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AHAERT 101 122 121 243 IBTHN 11,867 11,777 13,111| 24,888|#MET T H 148 148 127 275 RAHRT 513 651 714| 1,365
ARYHT 228 213 225 438 FEIT=TH 126 123 120 243 KIEHIX 3,045 3,971 4,091 8,062
JEBT 351 329 380 709| 5 EHT 231 266 277 543( TN T H 71 59 57 116
B 534 562 587| 1, 149|fRiENT 3,450 3,879 3,908  7,787| ANHFHHX 9,833 10,888 10,203 21, 091|Kl/AHT 328 455 478 933
b LT 268 272 291 563 | f AT 192 222 239 461 A ET 192 303 317 620
FE M 279 262 275 537| T 513 543 551 1, 094 Hrfny 987 1, 259 1,314 2, 573|5 LB — T H 673 855 964 1,819
)1 ET 117 131 135 266(iTART 3,212 3,533 3,638 7, 171|380 H Ry 357 442 474 916(HILIET — T H 228 278 303 581
KAGHT 661 645 639 1, 284| HRHT 2,997 3,454 3,591 7, 045(H 2 IT 1, 654 1,887 2,032 3, 919 AR/ N lT 624 807 855 1, 662
$RmT 17 13 21 34| Y 566 645 659 1,304 Hmly 836| 1,053| 1,065 2, 118| L4 My 1,370 1,791 1,925 3,716
FAHT 61 51 67 118| BgmT 1,242 1,498| 1,528  3,026| #HremRHX 3,834 4,641 4,885 9,526| Fg/\iEHLX 3,415 4,489  4,842| 9,331
b= T 212 246 285 531| KARHT 160 171 185 356
Bl 69 59 68 127| A YERT 331 408 450 858| H-HEFHT 2,563  2,881| 3,050 5,931|4 EET 451 514 568 1,082
JUREHT 123 110 135 245\ HERIT—T H 340 428 450 878| K\ AHT 1,013 1,229 1,165| 2, 394|ZEIGHT 262 364 358 722
HHET 142 111 97 208 HHIRET T H 365 464 429 893 /1N J\AHT 1,157| 1,455 1,424|  2,879|H% MET 742 855 893 1,748
TREHT 76 60 80 40| ERIT =T H 409 487 483 970| IEBL=FHT 388 484 532 1, 016 H#H BT 180 238 241 479
FFIHET—T H 158 150 176 326 HUEIRETIU T H 267 371 388 759|FEETE —T H 46 49 19 68| HmT 981 1,259 1,324| 2,583
FRIHET T H 112 117 111 228| IFRMIX 14,275| 16,369 16,776 33, 145|[EMTPE —TH 90 96 74 170 ELHT 567 749 774 1,523
FFIHET =T H 135 142 148 290 fErT—TH 198 184 206 390| - EHLX 3,183  3,979| 4,158 8,137
FRTHETY T H 147 184 186 370 A ST 3,534 4,189 4,317 8, 506| MM T H 37 36 42 78
A FalT 444 459 528 987| T —T H 257 293 317 610|MEAT=TH 15 14 19 33| AR IT 5,226| 6,365 6,482 12,847
FISRET 20 16 24 40| FrRT =T H 559 663 726 1, 389|HEATIUT H 108 117 111 228 | JFHT 156 205 243 448
FHT 163 155 183 338 ST Rl =T H 797 898 943 1, 841|#LfMT 1,772 2,156 2,255 4,411 AEEFHX 5,382| 6,570 6,725 13,295
=R 47 32 49 81| HT 1, 800 1,842 2,023 3,865 HJIlHX 7,387 8,701| 8,897 17,598
T 181 169 182 351 | FEpFHAT 1, 398 1,599 1,631 3,230 RIRHT 397 512 561 1,073
RILHT 443 473 511 984| B HT 182 198 216 414\ & FHmT 475 550 617| 1, 167|5XHHET 472 548 602| 1,150
(=) 33 31 35 66| )\ FRHiT—TH 466 539 506| 1, 045Gl HT 2,118 2,595 2,519 5, 114| k%M 539 688 644 1,332
fEFHET 85 74 96 170[ )\ TRIET =T H 358 374 428 802( K EHT 211 284 318 602| 75 5 HT 131 169 150 319
HEAHT 44 40 49 I\ FHRET=TH 426 500 525 1, 025 &y 1,032 1,288 1,367  2,655|#K5HT 497 721 723 1,444
FH T 188 174 194 368\ FARATIYT H 373 442 498 940| IR HT 458 587 602| 1, 1894 EHT 342 434 404 838
f=Lg 176 195 195 390( Al X 10,150 11,537 12,130 23, 667|HTE=HT 360 398 468 866|Jt 4 HT 458 612 616 1,228
T bET 560 586 665/ 1,251 J\ T 1,967 2,523 2,585 5,108 T EX 2,836  3,684| 3,700| 7,384
R T 30 24 27 51| ke Epmy 2,164|  2,609| 2,651 5, 2603 HHET 113 165 171 336
ST 528 529 604| 1, 133[{EEFEENT 36 42 45 87 J\iEHIX 6,734  8,390| 8,647 17,037| LjHT 231 338 319 657
FRHT 26 29 34 63| k- EmT 3,251  3,740| 3,643 7,383 TERETHT 127 194 193 387
LT 168 159 170 329| AL AZERT 353 414 478 892| b8 fi] W] 1,150| 1,455 1,462|  2,917| F75 HHET 135 192 186 378
JEET 194 179 209 388 22HT 604 618 623 1, 241| FE-frET 1,795 2,177 2,220| 4, 397| FuEHT 346 482 455 937
AT 384 390 418 808 B HT 1,081 1,339 1,339 2,678 EpHHT 804 995/ 1,025 2,020 FHT 271 424 409 833
R AT 40 36 43 79| 23T 1,226 1,605 1,615 3, 220[dL/AfRET 421 507 564| 1,071|PEAETFAT 380 437 381 818
AT 1,581 1,687| 1,827 3,514 Frp/EHy 906/  1,150| 1,131 2,281| X 4,170| 5,134 5,271| 10, 405|/\i&/FHT 288 415 448 863
fi FE T 220 222 253 475 1% PART 394 472 481 953 ) | 1 (X 1,778 2,482| 2,391| 4,873
izt 121 126 155 281 HRJEHT— T H 496 591 559 1, 150|7hHT 458 588 574 1,162
F T 174 147 169 316|HEIT T H 1, 394 1,581 1,811 3, 392| 45 HuHT 410 548 522 1, O70| A PAImT =/ £ 490 682 686 1,368
‘wr eHT 195 167 252 419 ERT =T H 589 689 752 1, 441| AL ET 152 216 207 423| A VAIRTHE 439 606 608 1,214
Amy 199 168 212 380| HEATIUT H 589 720 712 1, 432|147 7107 129 181 192 3T3| BT KA 170 252 262 514
JEAHERET 55 45 34 T BERT 841 981 992 1, 973|311y 1,093 1,443 1,531 2, 974| B HHIMTAE K 115 172 175 347
A1) 325 342 422 764|Fi1HH £ Hr T 554 620 574 1, 194| g 345 443 477 920| B HHIHT) 7 356 463 489 952
)1y 228 184 277 461| fEEFHIX 14,478| 17,171 17,406| 34, 577|%R0T 426 546 570|  1,116] AKX 1,570 2,175 2,220/ 4,395
1L FHET 119 116 117 233 Figeny 219 301 312 613
S1) 88 84 97 181| b/ sy 765 913 945  1,858] EHFHX 3,232 4,266| 4,385 8, 651|FEARHTPEHR 705 953 1,015 1,968
Py fmy 44 49 46 95| L/t HT 443 581 642 1,223 FERHT S BT 82 114 126 240
el 51 61 58 119 kA 3,012 3,167| 2,758 5,925 ERJEAT 1,073 1, 305 1,336 2, 641| FEHPBTHA Z IR 341 232 210 442
G mT 86 89 81 170[ T/ B HT 2,127 2,362 2,200| 4, 562|fE RLHEAT 268 391 400 ENER P S 795 1, 142 1,168 2,310
JHIAERT 221 221 242 463 T /NEHT 1,494 1,634 1,551 3, 185| LLiriT 595 827 828 1, 655 | FEARMT HH = 381 536 562 1,098
FEHAHT 442 361 461 822| HLHRHT 1,373 1,624 1,606  3,230| FRUEHT 392 538 549 1, 087 | HARHT F2 1,104 1,456 1,568 3,024
i FH T 173 179 165 344|FkIT—TH 274 277 197 474) FPOREET 204 259 264 523 FEAPHT ¥ 674 934 976 1,910
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M [ 322 524 510( 1, 034| & HH0T 1L 169 286 272 558
FEHRMT 199 300 315 615 &5 HMTAYS 440 630 606 1,236
FEPRETFT A (L 138 200 211 411 E AT 276 370 382 752
FEHRMT )1 397 552 594| 1, 146| & HH0T 454 687 641 1,328
FEM r i 6 5 11 16 & H:HT 2% H 400 560 611| 1,171
FEHRMTAAAIR 755 1,111 1,138| 2, 249|#HMTL A 98 150 158 308
FEGRET A i 1,401 1,911 1,981 3, 892 & H-HT 32 46 55 101
PR HE X 7,300] 9,970 10,385 20, 355| & HMT AR 275 407 417 824
EEaalp: 212 213 249 462
Sl ET 3,117 4,133 4,267 8, 400|FE HETHA 38 64 60 124
paislag 1, 380 1,744 1,897 3, 641] 5 FHHTRIR 14 14 18 32
5| FE T 404 560 610 1, 170| HIHRT L R 360 540 564 1,104
3=t 1) 128 188 195 383| H FHHTTEIR 41 63 75 138
T faf v ] 225 252 257 509 & H-HT 1 120 183 171 354
77K T 68 109 102 211 EHETH S 137 219 215 434
% JE[RIET 60 100 102 202| 5 HET/NER 315 447 476 923
B S HT 161 249 254 503| & HHT A 104 169 184 353
V5[ 5y HT 206 308 310 618| & HHT I 162 229 228 457
b Iy 310 396 368 T64| & FHHT /N 196 299 293 592
T e AT 2,800  3,768| 3,647 7, 415|FEEETEE 523 754 732 1,486
AT 1,026 1,323 1,329  2,652| HEFHATHIESE — T H 314 406 431 837
=AY 634 905 898 1, 803 EFHMTEME T H 343 442 472 914
R AT 1,268 1,612| 1,567 3, 179| & FHETEEAE =T H 205 291 281 572
[iZ1=1a) 1, 052 1,386 1,337 2, 723| 5 HEHT 1% 289 443 438 881
rh ELET 381 496 542 1, 038] & H-MT T B 95 141 148 289
PR T 553 760 792 1, 552| & FRM] LB 143 208 203 411
FEHET 473 617 687| 1, 304|F AT O 59 98 95 193
RER X 14,246| 18,906 19,161 38,067 #HFFHX 8,929 12,550/ 12,833 25,383
iy 5,437| 6,338 6,452 12,790
T b X 5,437| 6,338  6,452| 12,790
R T 1,154] 1,619 1,714| 3,333
rh = AT 976 962 1,190 2,152
S AT 458 654 661 1,315
B4 LT 130 78 106 184
R4 IHIRT 49 47 70 117
R ERT 330 517 538 1,055
LT 844 1,164 1,210 2,374
o L LT 645 897 905/ 1,802
- HLRRT 944 1,321 1,397| 2,718
AT 841 1,189 1,208 2,397
e T 658 953 975| 1,928
FaHT 150 231 226 457
+- 3T 195 298 276 574
B PRHT 327 501 479 980
=Y FRET 107 144 149 293
[URLa) 116 167 169 336
R4 X 7,924 10,742 11,273 22,015
E R 638 822 850 1,672
IR E IR 1,180 1,451 1,533 2,984
E R RAR 215 329 334 663
IR RAR 947 1,375 1,418] 2,793
2 HEET/M 135 214 223 437 w A E 151,005 184,730| 189,942| 374, 672




